SAP ABAP table OIU SB ACTWC T {Actual Owner Level Contractual Allocations results at WC's}
OIU_SB_ACTWC T-TRNSP_NO = KNA1-KUNNR KNA1

—_——

0..N | MANDT [CLNT (3)]
KUNNR [CHAR (10)]

- LFAl
MANDT [CLNT (3)]
LIFNR [CHAR (10)]

OIU_CM_MAT PRCD
MANDT [CLNT (3)]
MATNR [CHAR (18)]

OIU_CM_PINTTY

OWN_INT TYPE_CD [CHAR (2)]

OlU_PR_DN
MANDT [CLNT (3)]
DN_NO [CHAR (20)]

OlU_PR_MP
MANDT [CLNT (3)]
MP_NO [CHAR (20)]

OIU PR WC
MANDT [CLNT (3)]
WL NO [CHAR (15)]
WC_NO [CHAR (5)]

OIU_PR_WELL
0..N | MANDT [CLNT (3)]
WL_NO [CHAR (15)]

OlU RV CT
0..N | MANDT [CLNT (3)]
CT_NO [CHAR (10)]

______________________________________________ 0. N TOO06

—_
-

0..N' | MANDT [CLNT (3)]
MSEHI [UNIT (3)]




